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Simple Linear Equations (A)

Solve for each variable.

X a

6.12—5 11._—2:—4
7.2:—6 12.2:—3
8%2:4 13.%:6
9.§:—2 14.%27
10.3:—3 15.%24
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Simple Linear Equations (A) Answers

Solve for each variable.

X X

==7 S=-5 L —=—4
6 * 4 R
x=42 x=—-20 a=8

a b X
a=12 h=—-12 x=-—24
7= 36 y— _8 a= —48
Z
_5 9.5_ 2 14.2
z=-10 z=-10 y=14
a

5.52—5 10.3:—3 15.5:4
a=—45 x= =27 c=38
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Simple Linear Equations (B)

Solve for each variable.

AN =

[\ORIFA

.2:6 6.%2 11.%:6
=4 7.§:—6 12.%23
—9 8.%:—7 13.2:—4

_15:—7 9.%:—2 14._%:2

;:3 10.2:5 15)—262—8
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Simple Linear Equations (B) Answers
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I
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Solve for each variable.

¢ Yy

6. —=9 . —= =06
5 R

v

T§:—6 mg:3
Yy y

8. = =—7 —=—
6 n4 4
y=—42 y=—16
c v

L —==2 L — =

95 M_5
c=—10 v=—10
u X
.==35 . =—=-8

m3 52
u=15 x=-—16

Math-Drills.com




Simple Linear Equations (C)

Solve for each variable.

a

6~§:—8 11.2:—5
7%:9 12 %6:9
s%:—z 13.%8:2
9_1523 14.?24
10~§=3 15.3:—8
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Simple Linear Equations (C) Answers

Solve for each variable.

a

a

6. — = —8 . =—=-5
g "%

7229 12.%6:9
y vV _

s.g_—z 13. —
y=—16 v=—16
a b

9. — =3 14. — =4
a=—15 b =128
Z c

10'4_1 3 15.7_—8
z=12 c= —56
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Simple Linear Equations (D)

Q] =

Solve for each variable.

a 1%

6f3:6 ”f3:4
T§=9 m§2—2
&22—6 35:6

9224 m%:—z
mgz—S ”f%:_6
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Simple Linear Equations (D) Answers

Solve for each variable.

e 6. L —6 1. — =4
7 —7 -3
x =28 a—= —42 yv=—12
a
.z =6 7.2 =9 2. = =2
5 3 7
a=—30 y=27 7=—14
b c v
3. — = _ — =
-5 8.5 6 133 6
y b
4_—4:7 9.224 14.52—2
y=-—28 z=20 b=-10
b a X
R 10. — = —5 15. — = —6
S 7 9
— 45 a= —35 x =154
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Simple Linear Equations (E)

Solve for each variable.

1%

6._—7:8 11.
7.2:4 12.
s.g:4 13.
9.2:6 14.
10.2:8 15

oo | N

<
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Simple Linear Equations (E) Answers

Solve for each variable.

1% c

6. — = 8 11. — = —8
-7 -5
v=—-56 c =40
u y
— = 2= =2

7.6 4 12 2
y

&§:4 132:9
y=136 =172
b b
96:6 14.52—2
b =36 b=—14

b 1%

1o.§_8 15.5_9

b =24 v =063
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Simple Linear Equations (F)

Solve for each variable.

6. g =-2 11.
7. ; 4 12.
8. % = -2 13.
9. g =5 14.
10. ; =17 15

3:—8
L=
=7
7

3:6
%%:7
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Simple Linear Equations (F) Answers

Solve for each variable.

a a
6. —=—2 1. - =—38
5 3
a=—10 a=—24
v b
T7=4 12_62_9
V=128 b= 54
C
&§:—2 n§:—7
c=—16 x = —49
C a
9. — =35 L= =
9 m3 6
Z y
g L =7
m7 7 5—6
z=49 y=—42

Math-Drills.com




W <

SRR

Simple Linear Equations (G)

Solve for each variable.

v

6§:7 IL;:2
7.22—7 12.%5:—8
8-22—3 13.%24
9'22—8 14._i2:2
10.2:4 15.%22
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Simple Linear Equations (G) Answers

S S

=6
=18
= -5
=—10
=3
=16
R
-9
x=—36
= -3
= 24

Solve for each variable.

1% X

6. = =17 L o=2
3 "7
v =156 x=14

7.2::—7 n.l%::_g
a=—28 v =40
a

8. =3 135:4
a=—12 =12
b Z

9. —=—8 L — =
g 14_2 2

10924 15§:2
9 7
b =136 a=14

Math-Drills.com




Simple Linear Equations (H)

0| =

W =

Solve for each variable.

6._12:5 11.§:—4
7_i4:—9 12.2:4
g,;:_6 13.§:2
9.g:8 14.%:—8
10. = = —8 15'%8:6
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Simple Linear Equations (H) Answers

SEe NS

Solve for each variable.

y
6. — =35 =4
) s
u=—10 y=-—8
7%:—9 12.2:4
a =36 z=16
c=—42 y=16
c b
9.§=8 14.§:—8
c=172 b= —64
10%:—8 15.%:6
y=—32 c=—48
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Simple Linear Equations (I)

ool &
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Solve for each variable.

6. g = -3 11.
7. g =7 12.
8. % =-8 13.
9. g =-9 14.
10. g =9 15.
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Simple Linear Equations (I) Answers

Solve for each variable.

3

— 56 h=—9 x=—40
L b 4= 3
.9—8 7.527 3
e=172 b=35 @=-9
—2 - -
b—=18 =24 v=—12
X a u

— = e 14. — =4
4.5 6 96 9 >

x =30 a= —54 u==_3

X Vv X

6 10.3 5
x=-—-54 y=27 x=—10
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Simple Linear Equations (J)

W[ Q

3| Q

—2
— 4
.%:—8
=3
L -5

Solve for each variable.

X <

6._—6:8 11._—7:—5
7%5:6 12.%:5
8.§:—3 13.%25
9.§:6 14.§:9

10 _1726 15.2:6
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Simple Linear Equations (J) Answers

Solve for each variable.

QW

X Z
6 ¢ 8 11 — 5
=6 x=—48 z=235
.g:—4 7,%:6 12.%:5
c=—36 v=-30 a=—15
.§:—8 8.%2—3 13.%—5
y=-—40 7=-24 z=45
a Z y
. ==13 9. — =26 .==9
4 7 > 14 2
Z a Cc
~g 10— 1s. o 6
z7=40 a—=—42 c=24
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